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I Cine of the strengthening methods of existing structures is to use the composite natenal concept. Assuming
that a simply supported beam 3 m long carnes a uniformly distoibuted load of mtensity i = 6.4
KN/m was damaged in earthquake. The beam was onginally constructed of a wood member TOO mim wide by |
150 mm deep, and is now reinforeed on its lower side by a steel plate 8 mm thiek and 100 mm wide. Find the |
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maxinuwmn bendmg stress i the wood and steel due 1o the uniform load if the moduly of elasucity are I, = TU

GPa for the wood and E,= 210 GPa for the steel. (25 j})
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2.Calculate the moments of inertia of the shaded area with respect to the Y axis in Fig, 2 {20 43)
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i) Describe briefly the relationship between the buckling load and the peometry of the member

ny A pedestrian walk bridge between two butldings was designed to be a simply supported structure. However,
during the construction stage, the roller end was nistakenly welded and the structure became a pin-pin
condition. Discuss the acceptability of such a condition from a structure pont of view,

) What are the members in Fig. 3 wall have o consider the then bucklmg strength i design”
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E_U. Solve the initial value problem :
P2y Sy =157 (10%)
yiy=2 and p'(t)=-1when =0
@J Find the matrix multiplication of [4] [B] and[B] [4], where
1 -2 1
[4]=3 5 2 [B]=[2 0 -3] (5%)
4 1 -3
{\EQ Find the inverse matrix of [ C ] as following:
fz2 1 - 3]
[c]=]l0 -1 2 (10%)
i o2 1




